R
i
dE

Bl & mhenrn
FEIFIEIR
1. S iFUiE 2 TR H HAlR] N A a1 i B S A 2 B
(e AN FAFOF e TR SR IE
2. HH A5
FeiF i E=I e E S IE/FEIE R
=HleifiE S A EH/ FERERE
3. FEIFMEIRIFE RAT0, HHF TN e
AREIEAN LSt , BB H AFIE (BUFEE) KT0,
77 E R IR ZE KT Fr BRI IR =R, Jr R AT




BR v muenrayim
4. EN A LA EZF ar A R £ 5207 R ILARRY, i fin &

K, J7 Sy
5. flL =
& T HARRAS [ B8 B3 7 RIR K
6. R

AMET N R G5 BOE BUAM 5 B SL B8 7 BT 3R



Bl & mengmam
[#]4-8]1 . ZPHNERELTR, FHARTE KRR
100007G, ATHH84HE, F%{H20007C, AFHFEHIFFEFIE350070; 4
J BT RV BE100000G, WIS, EERE, - 3RF
30007, PAGRFFEIE10%. R TEARNMAZ N10%, MK H;
T 5 2
PR E A ERAE, BIERA TR, NEE eI
Fe .

H 77 2/ ENCF=3500+ (10000-2000) /8=4500 (JT)




n w EE
L7 R B FENCFR::
#14=3000+10000/5=5000 (7z)
F24E=3000X (1+10%) +10000/5=5300 (JT)
F3F=3000X (1+10%) 2+10000/5=5630 (JT)
FH4F=3000X (1+10%) 3+10000/5=5993 (JT)
H58=3000X (1+10%) ++10000/5=6392.30 (JG)
H 5 =1 BB =4500 X 5. 335+2000 X 0. 467—

10000=14941. 50 (JT)

BE

y==

N
N

FeiX

T



R

7 FAFIE
=5000 X 0. 909+5300 X 0. 826+5630 X 0. 751+5993 X 0. 683+6392.
3X0.621-10000=11213. 77 (JC)
H o R FIE=14941. 50/ (P/A, 10%, 8) =2801 (Ju)
0 BEFEEFRE=11213. 77/ (P/A, 10%, 5) =2958 (JT)

BE

gy==!

N
N

FeiX

T



B v v memeemomrm
REFHFRFWERT LR, HELSFHNEIEW. 1M
CTRFEFMER THAR, MEZSFITH G
15780. 937C (2958X5.335) HIEIME, & T H %, FEi,
CHERMTHR AR AFH HAE# T E N5 H E AR
L




